Fake rate vs hit

0.5

Duplicates Rate vs hit

0.45

©
IS
T T

0.05

0.045]
0.04]
0.035j
0.03}

o

o

=
T[T T

10 15 20 25 30 35 40

=
T

L

10 15 20 25 30 35 40

i

0.".U

0.".O =

5

Pileup rate vs hit

1F

0.8

0.6

0.4

0.2~

0 5 10 15 20 25 30 35 40

[ Fake rate vs I

—=— /data2/legianni/BDT-vs-DNN/real-BDT/CMSSW_13_0_0_pred4/src/runrem/DQM_TT__mKkFit_

—— DQM_TT__mkFitRETEST3_

0.5

0.45F
0.4
0.35
0.3]
0.25

0.2

0.18F
0.16F
0.14F
0.12F

L

[ Duplicates Rate vs pixel layer |

j|

20 25

0.
0.18
0.16
0.14]
0.12

0.1
0.08
0.06
0.04]
0.02

1.0

!

s
0.8]
0.6}

0.4

12 14 16

Pileup rate vs layer

1

CTT 2 3 4 5 6 7 8
oo =

0.8

0.6

0.4

0.2

T

8

10

12 14 16 18 20



	Contents
	Page 1


